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Bk H: 20164E11H 16 HREH

& | e —F L dN T 257 6,676 Yard Par 72

A

‘ TOTAL | IEf | TOTAL | NET TOTAL | IE{L | TOTAL NET |
= <5 AR
| 471 1 479 4 (4334 3
L K 4 OUT| IN {TOTALHDCP| NET E £ QUT | IN |TOTAL|HDCP| NET
A it % 40 | 35 | 75*| 36 |714 X B bEd 40 | 36 | 76 *| 38 |724*%
3 H k] 37 | 39 76 *| 48 1712 H B Bl & 41 | 37 . 18 *| 60 j720*
g X®X #& % 40 | 38 78 *| 6.0 |720 i) 15 = 39 | 40 79 *| 60 [730%
B M &# B 40 | 39 79 *| 9.6 |694 B % B B 30 | 40 70 *| 84 [706*
F @B E - 40 | 41 81 *| 84 1726 x 7 ® 43 | 40 83 *| 108 [72.2%
= B B - 43 | 39 82 *| 84 (738 ! O HF X @8 43 | 4 84 *| 108 |73.2*%
B il o 44 | 41 85 | 96 |754 = = izl 47 | 44 91 | 16.8 |74.2
TOTAL | IEfz | TOTAL | NET TOTAL | IE4E | TOTAL| NET
FHEE KHER
475 2 482 5 (4364 5
K 4 QUT!| IN |TOTAL|HDCP| NET E £ OUT | IN |TOTAL|HDCP| NET
M B KA 40 | 35 75 *| 36 {714 R W & #h 40 | 36 76 *| 24 |736*
: H O # — 43 | 34 77 *| 24 746 E B B8 A 39 | 38 77 *| 6.0 {71.0*
H # 1= 41 | 38 79 *| 7.2 |71.8 ' OE B & 41 | 39 80 *| 6.0 |740*
F i &F = 42 | 37 79 *| 84 [708 ST 40 | 4 81 *{ 108 |102%
# ¥ = & 42 | 40 82 *| 06 [724 # B — BB 39 | 44 83 *| 95 |734%
o B — 42 | 4 83 ¥| 108 [722 fE B B £ 41 | 44 85 *| 10.8 | 74.2*
H f iz 46 | 45 91 144|768 E O@ M 4l 46 | 42 88 | 108 |71.2
TOTAL | IEfiz ; TOTAL| NET TOTAL | 1@t | TOTAL! NET
T4 | ok
477 3 482 6 |432.8| 2
Kk & OUT| IN |TOTALHDCP| NET E & OUT| IN |TOTALHDCP| NET
7 M IE A 39 | 38 77 *| 36 |734 B Z = 8 = 38 | 35 73 %| 12 {11.8*
R OB OB OH 39 | 38 77 *| 48 {722 % % I 37 | 37 74 *| 12 |728%
m E E 7 42 | 37 79 *| 60 730 0O ® % 41 | 39 80 *% 7.2 |728%
h B B B &R 37 | 42 79 ¥| 712 |71.8 0w B & &£ % 41 | 40 81 *| 84 (726*
% X F = 40 | 42 82 *| 7.2 |748 E OB K # 4 | 45 86 *| 120 |74
W EHE A K 43 | 40 83 *| 108 [72.2 B E B =& A6 | 42 88 *1 168 |N.2*
F ] = 44 | 48 90 | 96 ;804 M B F & 47 | 45 92 |204 ! Hs6*




i

T WA W AIN T RKRE— BB F0H® R H
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£ | il —F L INT7 757 6,676 Yard Par T2

TOTAL | IEfL | TOTAL| NET TOTAL | IEf | TOTAL| NET
MBI B
483 7 14371.2| 1 ! 489 | 10 4506 1b
E % 10oUT! IN jTOTAL|HDCP| NET g A& OUT | IN |TOTAL |HDCP| NET
7 ¥ F = 37 | 36 73 *| 0 [73.0*% B B &F & 38 | 37 75 *| 0 |75.0*
m A B K B 40 | 35 75 *| 48 |702% ® OB F A 38 | 38 76 *| 36 724
it il Ei 37 | 40 77 *| 48 (722% 14 H 2 43 | 39 82 *| 108 |71.2*
= N B 3h 39 | 40 79 *| 72 [718% 5 # % k& 43 | 40 83 *| 7.2 |758*
=) % B2 42 | 42 84 *| 108 |73.2* E B B E 45 | 39 84 *| 36 1804*
¥ OH B X 50 | 45 95 *| 180 1770 A H #a 42 | 47 89 *| 132 |758*
e o] pie} 47 | 49 96 | 192 |768*
TOTAL | E4L | TOTAL| NET TOTAL | FEfr | TOTAL| NET
B H BEiRiR _
485 8 (4334 4 496 | 11 (4298 1
% & OUT| IN |[TOTAL|HDCP| NET E & OUT| IN |TOTAL|HDCP| NET
w OB B OE 37 | 36 73 ¥| 12 |718% B OE B 8 40 | 38 78 *| 60 |720%
M R - X% 40 | 40 g0 *| 72 1728%* x H F 2 39 | 39 78 *| 36 744
X B B 42 | 39 a1 *| 132 |678* hoom B OX 42 | 40 82 *| 84 |736%
X & g 4 | # 82 *| 7.2 |748* % K F & H 44 | 42 86 *| 13.2 [72.8*
"5 X B - 37 | 47 84 *| 120 |720% = 23 7 46 | 40 86 *! 19.2 |668%
B B B B 45 | 40 85 *| 108 |74.3* ¥ oW fw & 43 | 43 86 *| 156 |704*
» & ¥ A - 46 | 45 91 | 16.8 |74.2*
TOTAL | B | TOTAL | NET TOTAL! @z | TOTAL| NET
(3 TH
488 9 |4364| 6 496 | 12 (4456 12
K 4 OUT| IN |TOTAL|HDCP| NET K 4 oUT! IN !TOTAL|HDCP| NET
2 B F 43 36 | 40 76 *| 36 |724* R OFE - 37 | 41 78 *| 6.0 |720%
moONH =R E 39 | 38 77 *| 36 |134% Hho EOF 41 | 37 78 *| 80 |720%
=) M = 40 | 39 79 *| 84 |708* W B\ A 43 | 39 82 *| 7.2 [748*
E ¥ E = 40 | 41 81 *| 84 |726% i % 754 42 | 4 83 *| 84 |746*
N i L 42 | 43 85 *| 10.8 | 74.2* B OE M Z 42 | 42 84 * 84 |756*
E 7 &t 48 | 42 90 *| 16.8 |73.2* m R d & 45 | 46 91 *| 144 1 76.6%
X B B = 50 | 42 92 | 96 |824 m % % = 48 | 45 93 | 132|708




TN TV KR - B F O

fEEH T 201648118 16 HARIE T

W K

2 P e - IV T 257 6,676 Yard Par T2
TOTAL | WE{z | TOTAL | NET TOTAL' J@fi | TOTAL| NET
AR FR 3] )1}
499 13 (4414 9 514 | 16 |439.6| 8
K 4 OUT | IN |TOTAL|HDCP| NET K 4 OUT| IN |TOTAL|HDCP| NET
= N R O# 37 | 41 78 ¥| 60 |720% X #H sh = 43 | 38 81 *! 144 |666*
h F OE C 43 | 39 g2 *| 96 |724% W T OB 41 | 41 82 *| 96 |724%*
E &3 B 17 43 | 41 84 *| 108 |73.2* U\ O i 42 | M 83 *| 84 |746*
T % #H Ik 43 | 42 85 *| 96 |754% & I EJ 41 | 44 85 *| 72 [718*
A ®H E ¥ 38 | 47 85 *| 12,0 [730* R B B - 45 | 44 80 *| 156 |734*
B A i3 46 | 39 85 *| 96 [754* g2 B & =% 50 | 44 94 *| 192 [748*
N FH E - 47 | 45 92 | 156 1764 T B F# *x 52 | 46 98 | 19.2 [78.8
TOTAL | IE{& | TOTAL| NET TOTAL} IEHZ | TOTAL| NET
MU EasLl
oo | 14 |447.2 14 516 | 17 |446.4) 13
E & QUT| IN !TOTAL|HDCP| NET E % OUT | IN |TOTAL|HDCP! NET
il H B’ 45 | 35 80 *| 48 |752%* B B £ = 41 | 39 80 *| 72 |72.8*
2 H B A 40 | 42 82 *| 96 |724% B 5 B B M 42 | 41 83 *| 48 |78.2°F
B B K = 42 | 42 84 *| 84 |756* £ F B & = 42 | 42 84 *| 10.8 [73.2*
H £ B © 40 | 45 85 *| 96 |754% F ¥ E = 44 | 45 89 *| 13.2 175.8*
MW B =R 40 | 47 87 *| 144 |726* E R £ X 45 | 44 89 *| 132 [75.8*
% % E W& 44 | 44 88 *1 120 1760% X B O O— 48 | 43 91 *! 204 |708*
= W B % 45 | 45 90 | 12.0 |78.0 H O ' H 51 | 41 92 | 132788
TOTAL | FMAfZ | TOTAL| NET TOTAL | IB6L | TOTAL | NET
B FE
506 15 4414 10 517 | 18 (4436| 11
K & QUT | IN |TOTAL|HDCP| NET K 4 OUT| IN |TOTAL|HDCP| NET
i 7T ] 39 | 38 77 *] 12 |69.8* F F B B 41 | 40 81 *| 7.2 |738*%
iy 153 5h 38 | 39 77 *| 36 |734% & = = 46 | 39 85 *| 84 |766%
B OE B A 46 | 40 86 *| 10.8 [75.2* % # yit! 41 | 44 85 *| 96 |754*%
E @B & 44 | 43 87 *| 96 [77.4 x m] B 46 | 40 86 *| 16.8 |69.2%
¥ H E 4B 44 | 44 88 *| 16.8 |71.2* b || < 71 45 | 41 86 *| 12.0 | 74.0F
S th 7T 48 | 43 91 *| 144 |7686* - 46 | 48 04 *| 16.8 |77.2
® O - = 46 | 46 92 | 168 |75.2% E @ B 47 | 48 95 | 204 [746%
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TOTAL | @4z | TOTAL| NET

A% :
519 19 (4554 17
K & OUT| IN |TOTAL|HDCP| NET
N = B4 41 | 39 80 *| 7.2 [728%
il a £ 40 | 4 81 *| 60 |750*
# £ B X 44 | 43 87 *| 7.2 (79.8*
F B B - 46 | 42 88 *| 13.2 |748*
H KX F B 48 | 42 a0 *| 12.0 |780%
m B % — 47 | 46 93 *!| 180 |75.0*
wox £ 7 46 | 52 98 | 16.8 [81.2
TOTAL | I@4%z | TOTAL| NET

iR .

523 | 20 |452.8| 16
K £ OUT| IN |TOTAL|HDCP| NET
5 £ & 1T 40 | 43 83 *| 10.8 |72.2%
B " # 43 | 42 85 *| 108 |742*
R N E- 46 | 41 87 *| 10.8 |76.2°%
N KR B 8 = 44 | 44 88 *| 96 |784
& T # 48 | 4t 89 *| 108 |78.2%
B B = B 48 | 43 91 *| 156 [7154*
11} m| il 44 | 47 91 | 144 |768*




